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Lesson 1
Florida’s B.E.S.T.

Name

CHAPTER 1

●	Number Sense & Operations 4.NSO.2.4, 
4.NSO.2.5

●	Algebraic Reasoning 4.AR.1.1
●	Mathematical Thinking & Reasoning 

MTR.2.1, MTR.3.1, MTR.4.1, MTR.5.1, 
MTR.6.1, MTR.7.1

Investigate Remainders

I Can  use models to solve division problems with 
remainders.
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Materials ■ counters

Taliya and 2 friends are playing a game of dominoes.  
There are 28 dominoes in the set. Taliya wants each player  
to receive the same number of dominoes. Can she divide  
them equally among the 3 players? Why or why not?

You can use division to find the number of dominoes  
each player will receive.

A.	 Use 28 counters to represent the 28 dominoes.  
Then draw 3 circles to represent the 3 players.

B.		 Share the counters equally among the 3 groups by  
placing them in the circles.

C.		 Find the number of counters in each group and the  
number of counters left over. Record your answer.

		  _ counters in each group

		  _ counter left over

Draw a quick picture to show your work.
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Draw Conclusions

Make Conections
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• � Share 39 counters equally among 5 groups. The number of counters 
left over is the remainder.

For 39 ÷ 5, the quotient is _ and the remainder  

is _ , or 7 r4. 

Write the remainder as a fraction.

Since there are 4 counters left and you need 5 to keep the groups 
equal, the remainder is ​ 4 _ 5 ​.

When a number cannot be divided evenly, the amount left  
over is called the remainder.

Use counters to find 39 ∙ 5.

Draw a quick picture to show your work.

	 1.	 How many dominoes does each player receive? _______________

		  How many dominoes are left over? ___________________________

	 2.	 How many players can play the game if each player receives  
9 counters? Will any counters be left over? Explain.

 

MTR

How do you know when there 
will be a remainder in a division 
problem?

Math
Talk Engage in discussions on 

mathematical thinking.4.1
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Name

Divide. Draw a quick picture to help.

	 9.	 4​ ‾ 35 ​

 

	10.	 23 ÷ 8

 

	 1.	 10 ÷ 3

 

	 5.	 29 ÷ 4

 

	 2.	 28 ÷ 5

 

	 6.	 34 ÷ 5

 

	 3.	 15 ÷ 6

 

	 7.	 25 ÷ 3

 

	 4.	 11 ÷ 3

 

	 8.	 7​ ‾ 20 ​

 

Use counters to find the quotient and remainder. Write the remainder as a fraction.

	12.	 Alyson has 46 beads to make bracelets. Each 
bracelet has 5 beads. How many more beads 
does Alyson need so that all the beads she has 
are used? Explain. 

	13.	 For 13a–13d, choose Yes or No  
to tell whether the division expression  
has a remainder.

		  13a.  36 ÷ 9	 ●  Yes	 ●  No

		  13b.  23 ÷ 3	 ●  Yes	 ●  No

		  13c.  82 ÷ 9	 ●  Yes	 ●  No

		  13d.  28 ÷ 7	 ●  Yes	 ●  No

	11.	 MTR  Explain how you use a quick picture to find the quotient and remainder.

 

 

 

 

On Your Own

©
 H

ou
gh

to
n 

M
iff

lin
 H

ar
co

ur
t P

ub
lis

hi
ng

 C
om

pa
ny

DO NOT EDIT--Changes must be made through "File info" 
CorrectionKey=FL-B

Gaurav
Text Box

Gaurav
Text Box

Gaurav
Text Box

Gaurav
Text Box



Spot
on the

10    Florida’s B.E.S.T. Go Math!  Accelerated Grade 4

©
 H

ou
gh

to
n 

M
iff

lin
 H

ar
co

ur
t P

ub
lis

hi
ng

 C
om

pa
ny

©
 H

ou
gh

to
n 

M
iff

lin
 H

ar
co

ur
t P

ub
lis

hi
ng

 C
om

pa
ny

 •
 Im

ag
e 

Cr
ed

its
: (

tr)
 ©

Ho
ug

ht
on

 M
iff

lin
 H

ar
co

ur
t

• 
Im

ag
e 

Cr
ed

its
: (

tr)
 ©

Ho
ug

ht
on

 M
iff

lin
 H

ar
co

ur
t

Look at the way Oscar solved this  
problem. Find and describe his error.

Draw a correct model and solve  
the problem.

 

 

So, each of the 4 girls will get _ marbles 

and _ marble will be left over. 

	14.	 Macy, Kayley, Maddie, and Rachel collected 13 marbles.  
They want to share the marbles equally. How many marbles  
will each of the 4 girls get? How many marbles will be left over?

		�  Oscar used a model to solve this problem. He says his  
model represents 4​ ‾ 13 ​. What is his error? 
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